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FTEX GRITE #h 1) 4H9H 68108 8A11H 10R 14H 12H9H 298 |[FHMSHRE

1R@AZIa=F4(L1B) 0.029 0.024 0.022 0.022 0.026 0.030 0.026
2X(ALAT8FEHIER S LML) 0.032 0.034 0.032 0.033 0.032 0.040 0.034
BR@ZIa=T4L5) 0.047 0.034 0.044 0.049 0.042 0.038 0.042
AR@Za=T4L5) 0.049 0.042 0.045 0.040 0.052 0.043 0.045
S5RAAKAEE) 0.059 0.051 0.056 0.061 0.065 0.057 0.058
6 X (B R=fEETH15) 0.078 0.067 0.068 0.073 0.074 0.070 0.072
7 X (&) 0.050 0.054 0.053 0.046 0.055 0.052 0.052
8R(AZa=T<L15) 0.035 0.034 0.034 0.039 0.041 0.040 0.037
ORXR(RMFTEH LML) 0.059 0.047 0.053 0.061 0.055 0.051 0.054
10X (ER LN FR) 0.049 0.038 0.034 0.042 0.041 0.038 0.040
11X(RERR) 0.053 0.047 0.040 0.051 0.046 0.049 0.048
12R@AZ2=T<L15) 0.036 0.029 0.029 0.036 0.032 0.031 0.032
13X (A22=7/BF K EV5-) 0.051 0.049 0.046 0.055 0.049 0.043 0.049
14X CHBFE R 7 E 1) 0.050 0.043 0.044 0.042 0.051 0.043 0.046
15X (EHEVI-) 0.044 0.044 0.049 0.044 0.044 0.044 0.045
16R@AZI1=T<L1B) 0.046 0.031 0.049 0.044 0.051 0.047 0.045
17X (IB#ESE255F) 0.056 0.050 0.056 0.059 0.052 0.055 0.055
18RX(GEME L 2—) 0.050 0.049 0.050 0.038 0.052 0.046 0.048
1OR(AREFIEHALIL) 0.036 0.040 0.031 0.037 0.036 0.034 0.036
20X(IBFE 4 ARIMNER) 0.045 0.045 0.050 0.051 0.050 0.052 0.049
21R(AZ2=T4I518) 0.062 0.055 0.056 0.062 0.058 0.053 0.058
22X (R F/\R[BlE515) 0.055 0.040 0.049 0.049 0.044 0.038 0.046
23R (ZEHERNT TUR) 0.051 0.050 0.043 0.049 0.051 0.041 0.048

1 0.049 0.043 0.045 0.047 0.048 0.045 0.046
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